Remedies Fall 2014 Outline

I. LEGAL DAMAGES
A. Purposes
1. Contract damages: to protect one’s expectation interest in having promises performed
a. Restitution Interest (prevent unjust enrichment)
i. P relied on D’s promise and conferred value onto D 
b. Reliance Interest (put back in position)
i. P’s reliance meant P changed position
c. Expectation Interest (prevent unjust gains)
i. No reliance on promise required, just give P value of promise
2. Tort damages: to compensate for loss/breach of duty; or to punish and deter
B. Limitations on Damages Recovery
2. P must prove:
a. Harm occurred
b. Foreseeability (that D caused the harm)
c. Certainty (of the extent of the harm)
d. Mitigation
2. Foreseeability
a. General damages:
i. What an ordinary person would believe would result from this exact breach of this exact contract. 
a) What was the K?
b) How was it breached?
c) What does an ordinary person think the harm would be from the breach?
ii. P arguments: 
a) ordinary person would know of damages from breach, 
b) all statements made by D are part of K, 
c) D had authority to make/negotiate K
iii. D arguments: 
a) ordinary person would not know/be able to foresee these damages,
b) statements outside K were mere puffing, 
c) D had no authority 
b. Special/consequential damages 
i. Damages that a person with specialized knowledge would foresee because:
a) P tells D (authorized person or an agent of D) 
b) D is in the particular business (can know things that the P does not know by being in the business)
c) D knew from some other way
ii. Some states require knowledge and tacit consent for the D to be bound by the loss
iii. Approach in the Analysis: Does not look at what is in the K (not like general), instead looks at 
i. What D knows
i. P arguments: 
i. D had knowledge
· P told D and the person P told had authority to bind
· D is in the business so he knows
ii. D arguments:
i. D does not have knowledge
· Person P told was not authorized
· P never told D
· D is not in the business
b) Tacit Agreement Test (only required in Wisconsin and Arkansas)
1. Tacit agreement: implied or indicated agreement to pay for the loss (knowledge of the circumstances is not enough) 
2. For D to be liable, P must prove that at the time of the K, D:
a. Knew of the special circumstances
b. Those circumstances must have occurred
c. D tacitly agreed to assume liability for such loss (reasonably believe that D would consent)
3. Benefits D, because it is an extra element that P must prove:
a. D could foresee the special type of loss that occurred and that D also tacitly agreed to assume liability for such loss
4. UCC rejects tacit agreement test
a. P likes UCC jurisdictions
c) Proportionality
1. Where damages are way out of proportion to K price, there are serious doubts about whether D tacitly consented to be bound by that liability
a. However, use carefully because it really depends on what the odds are that someone took the risk—look at the probability involved
· If the odds are overwhelming that the special circumstances won’t happen, then the big gap in consideration/loss might not be disproportionate
d) Informal Dealings
1. Less likely to shift the risk to the D (to be evidence of tacit consent)
2. D argues that if P wanted the guarantee, P would have included it in the K
e) Consequential Damages Provision
1. P argues provision void because of fraud in the making of the K
a. Still must prove D had knowledge of the special circumstance
2. D argues that there was no fraud (statements were mere puffery) 
a. Or, D concedes there was fraud, D did not have knowledge
f) Hadley: Lost profits were not naturally foreseeable consequence of failing to send a mill shaft quickly, so carrier should not be held liable for these damages; special circumstances were not understood/shared between both parties
g) Spang Industries: Steel manufacturer should have known that late delivery of steel in colder weather increases construction costs (all parties were familiar with bridge construction practices, and GC’s actions were foreseeable)
c. Foreseeability in tort versus contract 
i. If D breaches K and it physically harms P, P can sue in contract and tort 
a) P may be able to recover more in tort b/c foreseeability in contracts is more limited
b) P must be
1. In the orbit of danger/foreseeable plaintiff (Palsgraf) 
2. D must have “caused” injury 
3. P must have been actually injured
c) Eggshell theory of liability: D takes P as he finds them; can’t argue that the P’s unforeseeable condition that made her unusually susceptible to injury should reduce damages
d) P arguments: tort damages should be available b/c physical harm or property damage occurred, fraudulent inducement of the contract occurred, argue directness (e.g., fraud led to K which led to negligence which led to the damages; no intervening events).
e) D arguments: no tort, P not in orbit of foreseeable harm, chain of causation is too tenuous.  
ii. Proximate cause tests
a) All direct harm (Polemis) 
1. D is liable for any direct harm of the negligent act unless not finding liability would be good for society
a. i.e., finding liability would stunt a growing business
b. hard to see what would qualify as an indirect result
2. P prefers this standard
b) Probable consequences (Wagon Mound #1) 
1. Duty of care only for foreseeable consequences of negligence (like general damages)
a. i.e., rat poison put over a stove in restaurant explodes; probably consequences are that D would poison someone’s food, NOT cause an explosion
2. D prefers this standard
c) Exceptional circumstances (Wagon Mound #2 & T.J. Hooper)
1. D is liable if a reasonable person in the D’s position could have foreseen in very exceptional circumstances that the damage would have resulted AND loss could have been
a. prevented easily AND
b. without substantial cost.
d) Same general type of harm (Kinsman)
1. D creates a situation by negligence and the same kind of general damage occurs but in an unpredictable way
3. Certainty of Damages
a. Exists in both K and torts
b. Two parts:
i. Certainty in the amount of harm
a) “New business” rule (Old) – Court will not allow recovery for loss in a new business because there is no history to show what the profits or loss would have been
1. Allowing recovery based on no history would be too speculative
b) New rule – To recover, P must establish lost profits with reasonable certainty
1. Evidence must consist of actual facts from which a reasonably accurate conclusion regarding the cause and the amount of the loss can be logically and rationally drawn
2. Even if there is a new business without a past history of profitability 
3. Creates battle of expert testimony and jury decides
4. Used in most jurisdictions
c) Grayson: P studying to be an opera singer was awarded $50K, but the amount was reduced because it was considered too excessive in light of the low probability of opportunities for musicians to have a practical chance at such high future earning capacity
ii. Certainty that D caused the harm
a) P must prove that D caused the injury if jury believes by a preponderance of the evidence
1. If 51% belief that D caused harm, D is 100% liable
b) “Loss of Chance” Doctrine: D caused loss of chance and is liable for that portion
1. E.g., negligent doctor caused P’s chance of recovery to drop from 40% to 20% (50% reduction); doctor is liable for 1/2 of 40% of P’s possible future lost earnings (40% of $1million future earnings = $400,000; doctor would be liable for $200,000)
2. Pros (P’s arguments)
a. Some form of recovery vs. all-or-nothing
· Also allows courts/juries to move away from sole reliance on “more probable than not” standard
b. Allocation of loss attribution to doctor’s negligence
c. Costs of uncertainty should be on doctor not patient 
d. Any chance of recovery=legal interest
e. Loss of chance doctrine recognizes possibilities as well as probabilities
3. Cons (D’s arguments)
a. Eliminates proximate cause requirement
b. Relies on speculative statistical evidence
c. Medical malpractice on separate standard compared to the professions
d. Increased malpractice litigation and premiums
c. Uncertainty is also related to inflation, reduction to present value, tax situations, etc.
ii. P arguments:  reasonable doubt regarding certainty of damages should be resolved against D (b/c he is responsible for creating the problem)
iii. D arguments:  claimed damages are too speculative
4. Mitigation
a. People must take reasonable steps to mitigate their losses
b. “Duty to mitigate” is not actually a duty (failure to mitigate doesn’t create affirmative right for D), but can serve as bar for recovery by P for losses that could have been avoided
c. Rule applies in tort and contract
ii. Contract rule: injured promisee cannot recover damages for losses that, with reasonable effort, he could have avoided after the promisor’s breach became known
d. Must do what is reasonable at the time, does not have to be best diligence
i. Extraordinary: where action would pose peril to life, undue risks to health, anguish that goes beyond reason, or too expensive
ii. Proof of reasonable alternative courses does not mean that P’s actions were unreasonable
e. Risks associated with mitigation may or may not need to be considered 
i. Minor hand surgery in Albert didn’t require consideration of risks
ii. Tubal ligation/major surgery in Hall required consideration of risk
C. Agreed Remedies
1. Liquidated damages provisions have become more attractive; provide certainty to parties 
a. P arguments:  provision should still apply even though there were no damages (Southwest Engineering), freedom of contract
b. D arguments: provision is not applicable if no damages occurred (Norwalk)
2. Reasonableness test (undesirable): Liquidated damages may only be reasonable in light of a) the anticipated or actual loss caused by the breach and b) the difficulties of proof of loss
3. If K includes a NO Consequential damages/Liquidated damages provision
a. P arguments: all damages should instead fall into general category; provision should be struck (e.g., by claiming fraudulent inducement to contract, parties didn’t have equal bargaining power, etc.)
b. D arguments: no fraud, parties agreed to the clause, freedom of contract
D. Punitive Damages
1. Punitive Damages in Tort
a. A court will award punitive damages when the D’s conduct is malicious, willful, wanton, or in reckless disregard of the P’s rights or interests (NOT negligence)
b. Purposes
i. Punish the D for wrongdoing
ii. Discourage others from behaving badly
iii. Further state interests
c. Ford: Auto accident caused by Ford’s defective design of which Ford was aware, but intentionally failed to recall car
d. Limitations
i. A punitive damage award can be grossly excessive in relation to the interests of the state and can violate due process
ii. To determine if the award violates due process, courts consider:
a) Degree of reprehensibility of D's misconduct
1. High degree when D repeatedly engaged in conduct that D knew was unlawful 
a. Evidence of recidivism
b. But evidence that action stopped once D learned it was illegal is NOT repeat behavior
2. Physical injury is more reprehensible than economic injury 
3. Out of state conduct can be used to determine degree, but only if it was illegal where it was done and NOT to punish D
a. “A D’s dissimilar acts, independent from the acts upon which liability was premised, may not serve as the basis for punitive damages” (State Farm)
b) Ratio of actual harm inflicted and punitive damages 
1. Double digit ratio is high, but courts allow a higher ratio if the egregious act results in a small economic award (i.e., spitting in someone’s face)
2. Can take into consideration D’s wealth but cannot use D’s wealth to justify an otherwise unconstitutional punitive amount
c) Difference between punitive damages awarded by the jury and the civil penalties authorized/imposed in comparable cases or state law
iii. BMW v. Gore: $4M punitive damage award for selling a repainted car without informing buyer was deemed excessive where the harm was economic and not physical; no pattern of misbehavior; 500:1 ratio
iv. State Farm: $145M punitive damage award issued by jury was reduced because the compensatory award was substantial and comparable sanction was only a 10K fine; punitive damage awards based on D’s conduct outside jurisdiction requires that conduct be comparable/ explicitly linked to the conduct in instant case 
v. Phillip Morris: Court’s majority opinion: Court cannot use punitive to punish D for actual harm to nonparties, but only to help to show that the conduct that harmed the P also posed a substantial risk to the general public. Justice Stevens’ dissent: allowing consideration of the harm is essentially permitting it to be used to punish the D
vi. Mathias: Motel with bedbugs told its employees to say they were ticks instead; even though the harm was slight, and ratio was 37:1, larger multiplier upheld b/c needed to limit D’s ability to profit from undetected fraud
2. Punitive Damages for Breach of Contract
a. General Rule: P must show more than a bad faith breach to recover punitive damages.  D’s conduct must be an independent tort.
b. CA Rule (only for insurance Ks): Punitive damages are available for insurance contracts, where D breaches the covenant of good faith and fair dealing
i. Rationale: Insurers must deal fairly and in good faith, and a breach is equivalent to a tort (insured parties are seeking protection, not a commercial advantage)
ii. But still need something more than just breach (e.g., bad faith, fraudulent or “outrageous” conduct).
c. Egan: failure to investigate physical condition before denying claim = bad faith.
i. Important limitation of this case – here, P required money quickly due to his disability.  In many insurance cases, this urgency is lacking, and punitive damages might not be awarded for only a bad faith breach
E. Interest and Prejudgment Inflation
1. Typically, prejudgment interest awards are barred when damages are unliquidated/not readily ascertainable with high degree of certainty 
a. Rationale: Award of prejudgment interest is equivalent to double recovery
2. Calculating Value of Damage
a. Value Plus Interest Rule: Cost of repair at or near the time of the breach plus prejudgment interest up to the time of trial
i. Court would likely require that the repairs were actually done
b. Value Plus Inflation Rule: Cost of completing repair at current value
i. Court would most likely not want to use court time to determine if the P actually uses the money to make the repairs
c. Other Loss: P might be able to recover for other loss based on loss of use of item
i. I.e., renting a car
3. Some states specifically define the types of breaches where interest damages may be awarded; can interpret “ascertainable” either narrowly or broadly
4. In contrast to prejudgment interest, most states routinely allow postjudgment interest to be awarded
5. Policy question: if inflation is ignored, are parties fully compensated?
a. Sometimes, inflation rate may be preferable to some bank interest rates 
b. Anchorage Paving: Calculation of damages at time of trial (and not time of breach) is appropriate, because inflation eroded value of reconstruction costs at time of breach.  However, prejudgment interest should not be calculated back to the date of breach
i. P arguments: allow interest to accrue from breach until final judgment b/c D benefited without earning it; increase damages to account for inflation b/c rightdoer should not have to incur costs because of wrongdoer’s breach
ii. D arguments: don’t allow interest/inflation to accrue because D should not be penalized for litigating issues on which there are reasonable grounds for disagreement; awarding interest/inflation is akin to double recovery
F. Attorneys’ Fees 
1. General Rule: Each side pays his own attorneys’ fees (American rule)
2. Exceptions to American Rule:
a. K provisions regarding awarding of reasonable attorneys’ fees
i. P arguments: K provision re fees can be upheld, D acted in bad faith
ii. D arguments: Fees not reasonable, K provision should not be enforced b/c difficult to tell who “won” and who deserves fees
iii. Who is a prevailing party?
a) A P that sues for money but gets no award, or only nominal damages, is NOT a prevailing party (Farrar)
b. Attorneys’ fees are often awarded against party deemed guilty of bad faith conduct in the course of litigation
i. Frivolous lawsuits: no law would support the suit
ii. Sanctions for refusing to answer interrogatories
c. Other statutory exemptions exist (including extensive two-way fee-shifting statutes in Alaska)
d. Many federal statutes provide for one-way fee shifting for Ps who successfully enforce provisions of statute in court
II. EQUITABLE REMEDIES
B. Proceedings
1. At law are usually for money
2. At equity are usually for an inunction but all happens in same suit
c. Mailman walks through tulips to deliver mail
i. Want money damages for lost flowers
ii. Want injunction to stop him from doing it
C. When will a court issue an equitable remedy?
1. When there is not another area with more expertise;
c. A court will not hear the case when there is another place with expertise unless discrimination is involved
i. Waddell: flubbed football game is not deserving of injunctive relief; court is not appropriate place to hear this controversy, and no issues re: equal protection
ii. Blatt v USC: student sues to get into order of coif and loses; not being prevented from practicing law in future/no dire consequence
2. When there is an important right at stake;
c. Constitutional right: First Amendment, EPC
i. Orloff: P repeatedly ejected from horse track w/o cause, and receives injunctive relief, despite fact that statute authorizes monetary damages of $100; no violation of property rights is required, remedy available at law is inadequate, and damages are hard to assess
d. Right to earn a living
i. Precedent cases cited by P in Blatt were expressly limited to situations affecting the right to work in a chosen occupation or specialized field (medicine, dentistry, etc.)
3. When the legal remedy (money award) is inadequate
c. A money remedy is inadequate when:
i. A P must be restored to or have transferred to him property that is unique in that it cannot be obtained on the open market
ii. Redress would take multiple lawsuits
iii. Damages that are adequate in theory are actually not so because of D’s insolvency
iv. Damages are so speculative and difficult to ascertain that the remedy will be ineffective
d. Tamarind: writer is granted injunctive relief to have name on credits.  Legal remedy ($25k in damages) is inadequate/too speculative, and specific equitable performance (forcing filmmaker to add name to credits) is required.
e. Gerety: seller of house is under agreement to fix plumbing, and P seeks specific performance; no equitable relief granted for this simple breach of K action b/c monetary damages are sufficient)
f. Johnson: husband agreed to make wife beneficiary, but before he dies, he names kids.  Wife sues estate, but there is no money in estate.  Because estate was insolvent, wife claims legal remedy was illusory; court was willing to look at the big picture and grant equitable relief even though legal remedy was technically available
C. Limitations on Equitable Remedies
1. Feasibility and practicality in enforcement
a. Equitable remedies are enforceable by courts via contempt power, but decree must be feasible, and enforcement must be practical
b. Decree must be framed with enough specificity to place D on notice of what is required for compliance; otherwise, threat of contempt will not be effective
c. Feasibility of equitable remedy may be defeated if the subject of litigation is very short, or if D is not within court’s territorial jurisdiction for enforcement
2. Judicial resources
a. Equitable relief may be denied when the strain on judicial resources is out of proportion to the importance of the interest protected
i. To monitor award would require hiring of special master
ii. Costly enforcement weighs in favor of not issuing injunction
b. Grayson: Court agrees to enforce an arbitration decision of specific performance (forcing developer to build a building), even though it will involve court’s oversight of a construction project; balance the resources lost if people could not rely on arbitration (i.e., everything would end up in court)
3. Balancing of the equities and hardships
a. Courts consider the relative ethical position of the parties and the relative hardships when deciding whether to issue an injunction. They can consider anything on both sides that is relevant and will ask:
i. What benefits and harms are there to the P if the injunction is issued or not?
ii. What benefits and harms are there to the D if the injunction is issued or not?
iii. What benefits and harms are there to the court if the injunction is issued or not?
iv. What benefits and harms are there to others if the injunction is issued or not? 
b. Wroth: Husband selling house stopped sale before closing because his wife suddenly placed a lien against the property.  Purchasers sued, seeking specific performance (to force sale of house).  Seller obtains equitable relief, b/c forcing the sale of home to buyer would have caused great stress/strife for family/marital relations in general (and buyer can be made whole through payment of money)
D. Defenses to Equitable Remedies
1. Unclean hands
a. Unclean hands will negatively affect the issuing of equity only if the questionable things done relate to transaction.
i. Having unclean hands does not mean a party automatically loses, it is just harder for them to win
a) Courts will “weigh the dirt” (doesn’t matter who initiated the lawsuit)
ii. The public interest in terminating D’s misconduct may be so strong as to preclude the unclean hands defense
a) Ex: When the welfare of children is at issue
b. Giants v. Chargers: Top football recruit signed secret pro contract with Giants, then revoked and signed with Chargers.  Giants denied equitable relief because they knew that they were violating NCAA rules by signing player to pro contract
2. Estoppel
a. D is estopped from asserting statute of limitations or statute of frauds defenses
b. The party claiming estoppel must show:
i. The other party misrepresented or concealed material fact(s);
a) Material fact is one that changes someone’s behavior
ii. The party claiming estoppel was unaware of the concealment or misrepresentation when acting upon, or refraining from acting upon, the misrepresentation or concealment;
iii. The party claiming estoppel reasonably relied that the other party was not misrepresenting nor concealing material fact(s); and
iv. The party claiming estoppel has, or may be, prejudiced because of such reliance.
c. Parks v. Kownacki: priest abuse case where church told victim not to sue, and SOL has expired; no estoppel b/c no proof that church misrepresented/concealed
d. After learning about the misrepresentation, the party needs to move quickly to file the lawsuit.  There is not an infinite extension. 
3. Laches
a. Unreasonable delay in pursuing a claim in equity, which prejudices the adversary, constitutes a bar to recovery although the SOL has not run on the claim, unless the delay was excusable.
i. Was there unreasonable delay in pursuing the claim that is not excusable?
ii. Does the unreasonable delay prejudice the adversary?
a) Prejudice may occur if D has incurred substantial expense, and will now have to incur additional expense to undo what he has done because of P’s delay in challenging D’s action
b) Prejudice may also occur due to loss of evidence or other means of defense by D, or may make compliance by D overly burdensome
b. Prouty: Husband agrees to maintain $500/month life insurance policy for ex-wife as part of divorce settlement.  In 1947 he informs her that policy has lapsed.  1955 she sues to enforce; laches precludes her claim
i. Tunick – Laches shouldn’t always be a complete bar, and the wife should only lose to the extent that the husband has been prejudiced.  All or nothing makes little sense here.
E. Right to Jury Trial
1. Issue – right to jury trial only applies to cases involving legal claims, not equitable claims, but many modern cases blend both claims, so difficulties arise (i.e., how to determine which claims are which, how to determine order of trial/which claims to hear first so as to avoid collateral estoppel issues, etc.) 
2. Federal Approach: When legal and equitable claims are joined, federal courts have significant preference for a jury trial, and FRCP allows for consolidation of legal and equitable claims into one suit
3. In deciding equitable issues that rely on factual issues determined in the jury trial, judge is bound by the jury’s decisions. 
a. Equitable issues that do not depend on such factual issues may be decided by the judge separately
b. Example – P sues D for money and an injunction, alleging that D tiptoed through P’s tulips.
i. Judge will decide if D tiptoed through tulips in the past and issue the injunction to keep it from happening in the future.
ii. Jury will decide if D tiptoed through tulips and did damage and how much he should pay
iii. In most jurisdictions (but not all), when judge is deciding whether to grant the injunction, he may be bound by a previous jury’s decision on whether the tiptoeing had occurred before.
F. Enforcement of Equitable Decrees – Power of Contempt
1. Civil contempt: Court enforces the rights of a party who is entitled to the benefit of an equitable remedy
a. Fine goes to the other party
b. Coercive purpose
c. By obeying the order, you can get out of contempt
i. Party held in contempt holds the key to get out, and just has to comply with court’s request
d. Rights at a civil contempt hearing
i. No right to attorney
ii. Preponderance of the evidence standard
2. Criminal contempt: Judge protects and vindicates its authority
a. Fine goes to the state
b. No matter what you do, you cannot get out of contempt
c. Rights at a criminal contempt hearing
i. Presumption of innocence
ii. Right to a hearing
iii. Right to an attorney
iv. Right to remain silent
v. Proof beyond a reasonable doubt standard
vi. Right to jury trial if longer than 6 months
G. Injunctions
2. FRCP 65(d): “Every order granting an injunction and every restraining order shall set forth the reasons of its issuance; shall be specific in its terms and shall describe in reasonable detail and not by reference to the complaint or other doc, the act or acts sought to be restrained.”
a. Specificity requirements
ii. For a decree to be valid, it must be comprehensible and understandable
a) D has to be on notice of what he is supposed to do.  If the decree is not specific, he is not on notice
b. When creating an injunction, you make it enforceable against the parties who have the ability to control the issue
c. When a party is unable to comply with an injunction, he cannot be held in contempt for violating the injunction
3. What are provisional remedies?
a. Provisional remedies are legal mechanisms that allow P to secure possession of personal property that is the subject of the trial prior to trial.
ii. Attachment/garnishment: Allow P to hold property of D as security for an eventual judgment in P’s favor
iii. Lis pendens: P records the claim involving title or right to possession of real property
iv. TROs and preliminary injunctions
a) Temporary restraining orders: Designed for purpose of protecting P’s right in an eventual equitable decree
1. Usually issued ex parte
2. Enforceable by contempt
3. What is the procedure of obtaining an injunction? 
a. Should the injunction be issued?
i. Factors to consider in determining whether a TRO or PI should be issued:
a) Whether P is likely to win the case when it goes to trial
b) Harm to the moving party
c) Harm to the opposing party
d) Harm to the public
e) Burden on the court
b. Did P post a bond? (to compensate for costs or damages that may be suffered from D who was wrongfully enjoined or restrained)
c. Does the D have notice of the hearing and/or is notice required?
d. Did the D or other people have notice of the injunction so as to bind them by the injunction?
i. Injunctions and restraining orders are binding upon:
a) Parties to the action AND
b) Parties’ officers, agents, servants, employees, and attorneys AND
c) Other persons in active concert or participation with parties who receive actual notice of the order by personal service or otherwise
1. An injunction can explicitly require D to give notice to others who need to comply in order for D to comply.  If D fails to provide this notice, court can hold D in contempt
2. Constructive notice not sufficient
a. Notice must be given, unless facts shown in affidavit or complaint show that providing notice may cause irreparable injury to the moving party (e.g., stolen item will be destroyed by D, etc.)
b. Not giving notice is risky; judge might not agree with you, might require you to give notice and then come back for the hearing to get the TRO
3. If there is no notice, then there would be a violation of due process to hold successor liable for infringement
e. Vuitton: Knock-off handbags where unsure if all of the 3 brothers had notice, so could only hold the brother who had actual notice in contempt, but even still, no evidence that three brothers aided and abetted Carousel
f. Crucible: Active concert means “a person who induces another to violate an injunction when the inducer knows about the injunction”
III. RESTITUTION
B. A person who is unjustly enriched at the expense of another is liable in restitution to the other. 
1. P must choose their desired remedy: can affirm a contract induced by fraud and sue for damages, or disaffirm the contract induced by fraud and seek restitution.
e. Alternative remedy: Suing in quasi-contract instead of under a cause of action (possibly because SOL has expired)
i. Purpose of quasi-contract – to disgorge the D of ill-gotten profits so P gets the amount that D has unjustly benefited from
ii. Remedies:
a) Actual value of the sale (the unjust enrichment)
b) Market value
c) Special value
1. P cannot get this value in quasi-contract COA
iii. E.g., Felder – D steals pump from P worth $8k, sells it for $550.  P sues under quasi-contract instead of tort.  QC would normally award $550 to P (old rule), but Ct says that if implied K had actually existed, pump would have been sold for market value ($8k).  P is awarded $8k.
f. Sole remedy: free standing restitution
i. There is no K/tort relationship between P and D;
ii. P is not a volunteer;
a) Volunteers and officious intermeddlers cannot recover restitution
b) A volunteer is a person who acts without being asked to act
iii. P conferred a benefit upon the D;
iv. D was unjustly enriched (benefited) by P service; 
a) D accepted and retained the services under such circumstances that it would be inequitable to retain the benefit without payment
v. P recovers the amount of the benefit D received
B. What is Unjust Enrichment?
1. Rule:  Where someone is a volunteer, they are generally NOT entitled to restitution
a. Enrichment is not unjust when P acts as a volunteer: 
i. P is not a volunteer when he acts without intent to act gratuitously AND
ii. D has an opportunity to decline the benefit and does not, OR
iii. P has a reasonable excuse for failure to afford D an opportunity to refuse, OR
iv. D requested the performance of the service, OR
v. After D knew of the service D promised to pay for it
b. Rationale:  D’s right of free choice (a person should not be required to become an obligor unless he so desires)
c. “Mere acceptance of benefits does not give rise to unjust enrichment”
d. A person who, incidental to the performance of his own duty or for the protection or improvement of his own things, has conferred a benefit upon another is not entitled to restitution
i. Felton: Lawyer took a case without consulting the clients -> clients do not have to pay because they asked the lawyer expressly not to do anything
e. Kossian: Owners of fire damaged hotel were paid the insurance money for the clean up, but refused to pay P who did the cleanup work -> unjust enrichment, and owners have to pay P
f. Bailey: P took care of D’s horse without being asked to -> was considered a volunteer
2. Exceptions:
a. Restitution for Unsolicited Acts Preserving Property
i. Restatement § 117: A P can get restitution from fixing property if P has saved another’s property from certain damage or destruction;
a) P was in lawful possession of the property (or lawfully took possession of it);
b) The repairs/saving was necessary before the owner could be contacted;
c) P had no reason to believe the owner did not desire such assistance;
d) The person intended to charge for the services (or to retain the property if the owner was not found) &
e) The property has been accepted by the owner 
ii. *D will argue autonomy and freedom to choose should be respected
b. Restitution for Unsolicited Medical Services or Preservation of Life 
i. Restatement § 113: A P who provides medical care can get restitution when P:
a) Performed a non-contractual duty of D
b) By supplying a third-person with necessaries which the D failed to supply
c) And acted without D’s knowledge or consent
d) Is entitled to restitution if P acted
1. Unofficiously (not as a volunteer) and
2. With an intent to charge therefore
ii. Restatement § 114: A P who has
a) Performed the duty of another
b) By supplying a third-person with necessaries
c) And acted without the other’s knowledge or consent
d) Can get restitution if
1. P acted unofficiously 
2. And without the intent to charge
e) And the services needed to be supplied immediately to prevent serious bodily harm or suffering
iii. Restitution Amount: Reasonable charge for the services provided
iv. Greenspan: Daughter injured foot, and friend took her to the doctor who teated and sent bill to parents. 
a) Doctor performed non-contractual duty to P (parents)
b) Proof that doctor prevented permanent injury so this was a necessary
c) Doctor acted without consent
d) Doctor acted unofficiously and with intent to charge. 
c. Restitution for Payment of Another’s Debt or Performance of Another’s Obligation
i. Rule: Courts usually will not give restitution to a P who voluntarily paid another’s debt. 
ii. Exception: P can have restitution if the debt or obligation is discharged:
a) Because P’s payment of D’s debt is made to protect an interest of D’s
1. Gallagher: Insurance agent who worked for himself and was trying to get paid back for his expenditure of money to protect his own business goodwill, but court found that Gallagher was a gratuitous volunteer because protecting your own good will IS NOT protecting a payor’s interest 
b) Because D had a moral obligation to pay
1. Atlantic Mutual Insurance v. Cooney: Insurance company had a moral obligation to cover the extra that the insured loss, so could get paid back 
c) Because of mistake
1. But not if P has unclean hands
2. Norton: P paid off D’s (his enemy) debt but was denied relief because: 
a. P was negligent and did not pay attention to the papers at the bank
b. P was not related to, or even friendly with D
c. P was an intermeddler (officiousness is not to be encouraged)
d. P’s good faith was questionable (akin to unclean hands)
e. P was not protecting any interest which he had or thought he had; nor was he discharging any duty which he owed or thought he owed
d) Because D had a legal obligation 
1. If D refuses to receive the benefit, D is not required to make restitution unless P justifiably performs a duty imposed by law
2. E.g., If you take your car in for service and the mechanic determines that you need brakes in order to make the car safe, the garage can put in brakes without asking you.  You can’t refuse to pay, b/c the garage has a legal duty not to give you the unsafe car.
C. Measuring the Value of the Enrichment
1. Quantum meruit: reasonable value of the services rendered provided they were of direct benefit to D
a. Maglica: If no contract, can only get reasonable value of the services
2. Equitable remedies
a. Constructive trust: court engages in the fiction that D was holding P’s property in trust when there was a wrongful act that resulted in the transfer of property and led to the unjust enrichment of another
i. Between two innocent parties who receive a gratuitous property transfer of the same property, the first in time prevails (gets the constructive trust) unless the second party is a bona fide purchaser
a) Marriage can make a BFP if the marriage is a condition for getting the property
b) Hirsch: Court said first wife would prevail even though the asset was transformed from life insurance policies to house title, because although second wife could be a BFP, she did not marry husband on the condition of getting the property
ii. If assets are in the hand of 3rd parties, they can still be attached by court unless those parties can prove they are bona fide purchasers for value.
iii. Asset or appreciated value from sale of asset will be handed over to the P
iv. E.g., someone steals your painting that you bought for $500.  They sell it for $20,000.  Since it went up in value, you want the increased value as restitution.
v. Justification: crime doesn’t pay
b. Equitable lien: creates a lien on property that can be foreclosed to pay the amount owed to P
i. Where asset has depreciated, P does not want only the asset/depreciated value, but also wants a lien for the monetary value that was lost.
ii. Ex: You paid $500 for painting but thief sells it for $300.  You want a total of $500 as restitution.
c. Baxter: Victims get 1/7 of insurance policy payout because their stolen funds paid for 1/7 of the insurance premiums, even if this amount meant they get more than was stolen from them
i. Defendants wanted an equitable lien of only $43K stolen
ii. Victims wanted “constructive trust” of $2M; court agreed
3. Tracing
a. Courts trace when a wrongdoer commingles P’s property with the wrongdoers’ own assets or with other Ps property, so that P1’s property is no longer identifiable
i. Courts will impose a constructive trust or equitable lien on the commingled mass and used fictional tracing rules to determine P’s rights
b. Tracing allows P to get interest on the money taken 
c. Three Methods
i. FIFO (“First In, First Out”)
a) First funds in the account are the first out
ii. LIFO (“Last In, Last Out)
a) Last funds in the account are the first out
iii. Hand
a) P’s money is taken out based on the percentage of money in fund. 
b) Percentages are recalculated only when money is placed in account, not when money is taken out. 
d. Three Variations of Tracing Methods
i. Hallett: Defendant’s $$ Goes First
a) Presumption that all withdrawals were of the wrongdoer’s funds, until those funds are exhausted
b) P would be entitled to a constructive trust or equitable lien on whatever was left in the commingled fund
c) First Question: Is money coming out? 
1. Yes? Go to 2nd Q
d) If D’s money in account? 
1. Yes? Use D’s money
e) If No to both or either, use jurisdiction’s method
ii. Oatway: Use the money the “Right Way”
a) P has option of using the Hallett’s rule or tracing his interest to any identifiable property acquired with the money from the commingled fund
b) First Question: Is money coming out? 
1. Yes? Go to 2nd Q
c) Second Question: Is D’s money in account? 
1. Yes? “Rightdoers,” whose money do you want to use?
d) If No to both or either, use jurisdiction’s method
iii. Restoration
c) If the rightdoer has lost money, then the D’s money can be used to restore the right-doer
e. Equitable arguments made after tracing to try to influence how the court will distribute the money
i. Ps will argue:
a) D shouldn’t be able to extinguish his debt with stolen money.  So D shouldn’t get money AND creditors shouldn’t get money
b) P is innocent and didn’t voluntarily deal with D
c) Creditors are innocent BUT voluntarily dealt with D so they shouldn’t get the money
ii. Ds will argue:
a) I used the money and took risks, I should get to extinguish the debt so the creditors should get the money
b) Ps should just get the money that was stolen from them, not any increase in value
iii. Creditors will argue:
a) We are innocent, so we should get our money and then have P(s) split the remainder
Facts for the below charts:
· D had $2,000 of D’s own money in a bank account.  
· Then D stole $2,000 from P1, and placed this $2,000 into the same bank account.
· Then D withdrew $2,000 from the account, and bought a painting with the $2,000.  D knew a lot about good values in paintings.
· Then D stole $2,000 from P2, and placed this $2,000 into the same bank account.  
· Then D withdrew $2,000 from the account, and lost it all at the horse races.
· Then D studied the stock market and believed a certain stock had a good chance of going way up in value.  So, with the remaining $2,000 in the account, D purchased the stock.  Now that the bank account had a zero balance, D closed the account.  
· The stock’s value increased, and D sold the stock for $12,000.  D also sold the painting, purchased earlier, for $18,000.  D placed the $30,000 ($12,000 + $18,000) into a new bank account.
TRACING – LEARNED HAND
	Event
	Account
	D 
	P1
	P2

	D’s funds
	$2,000
	$2,000 (100%)
	--
	--

	Theft P1
	$4,000
	$2,000 (50%)
	$2,000 (50%)
	--

	Painting

	$2,000
	$1,000 (50%)
	$1,000 (50%)
	

	Theft P2
	$4,000
	$1,000 (25%)
	$1,000 (25%)
	$2,000 (50%)

	Races
* Non-traceable event
	$2,000
	$500 (25%)
	$500 (25%)
	$1,000 (50%)

	Stock purchase
	--
	--
	--
	--

	Outcome: Painting increased in value to $18k, with $9k accruing to both D and P1.  Stock increases to $12k, with 25% accruing to D, 25% accruing to P1, and 50% accruing to P2





TRACING – FIFO
	Event
	Account
	D
	P1
	P2

	D’s funds
	$2,000
	$2,000
	--
	--

	Theft P1
	$4,000
	$2,000
	$2,000
	--

	Painting

	$2,000
	-- (FIFO)
	$2,000
	--

	Theft P2
	$4,000
	--
	$2,000
	$2,000

	Races
* Non-traceable event
	$2,000
	--
	-- (FIFO)
	$2,000

	Stock purchase
	--
	--
	--
	--

	Outcome: Painting was purchased with D’s money, so 18k accrues to D.  Stock increases to $12k, all accruing to P2 (b/c P2 was only party left with money in the account to purchase the stock)




TRACING – LIFO
	Event
	Account
	D
	P1
	P2

	D’s funds
	$2,000
	$2,000
	--
	--

	Theft P1
	$4,000
	$2,000
	$2,000
	--

	Painting
	$2,000
	$2,000 
	-- (LIFO)
	--

	Theft P2
	$4,000
	$2,000
	--
	$2,000

	Races
* Non-traceable event
	$2,000
	$2,000
	-- 
	-- (LIFO)

	Stock purchase
	--
	$--
	--
	--

	Outcome: Painting increased in value to $18k, accruing to P1.  Stock increases to $12k, all accruing to D (b/c D was only party left with money in the account when stock was purchased)




Hand with Hallett
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
*100%
	--
	--

	Theft from P1
	4,000
	2,000
*50%
	2,000
*50% 
	--

	Painting
	2,000
*Money is coming out of the account AND D has money in the account, SO use D’s money per Hallett
	--
*D’s money used to buy the painting
	2,000
*100%
	--

	Theft
	4,000
*Don’t use Hallett b/c money is not coming out of the account
	--
	2,000
*50%
	2,000
*50%

	Races
	2,000
*Money is coming out of the account BUT D doesn’t have money in the account, SO use regular Hand analysis (percentage)
	--
	1,000
*50%
	1,000
*50%

	Stock
	0K
* Money is coming out of the account BUT D doesn’t have money in the account, SO use regular Hand analysis (percentage)
	--
	--
	--

	Outcome: D’s money was used to purchase the painting, so when the painting increases to 18K, D gets 18K.  P1 and P2’s money was used equally to purchase the stock, so when it increases to 12K, P1 and P2 each get 6K




FIFO WITH HALLETT
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
	--
	--

	Theft P1
	4,000
	2,000
	2,000
	--

	Painting
	2,000
*Money is coming out of account AND D has money in the account, SO use D’s money per Hallett
	--
*D’s money used to purchase painting
	2,000
	--

	Theft P2
	4,000
	--
	2,000
	2,000

	Races
	2,000
*Money is coming out, BUT D doesn’t have money in the account so don’t use Hallett, just use traditional FIFO
	--
	--
*P1’s money used on races
	2,000

	Stock
	--
*Money is coming out, but D doesn’t have money in the account, so don’t use Hallett, just use traditional FIFO
	--
	--
	--
*P2’s money used to purchase the stock

	Outcome: D’s money was used to purchase the painting, so when the painting increases in price to 18K, D gets 18K.  P2’s money was used to purchase the stock, so when it increases to 12K, P2 gets 12K




LIFO WITH HALLETT
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
	
	

	Theft P1
	4,000
	2,000
	2,000
	

	Painting
	2,000
*Money coming out AND D has money in account, SO use D’s money (trumps LIFO rule that would require using P1’s money)
	--
*D’s money used to purchase painting
	2,000
	

	Theft P2
	4,000
	--
	2,000
	2,000

	Races
	2,000
*Money coming out of the account BUT D doesn’t have money in the account, so don’t use Hallett
	--
	2,000
	--
*P2’s money used in races b/c his money was the last in

	Stock
	--
*Money coming out of the account but D doesn’t have money in the account, so don’t use Hallett
	--
	--
*P1’s money used to purchase stock b/c P1’s money last in the account
	--

	Outcome: D gets 18k from painting, P1 gets 12k from stock.




HAND WITH OATWAY
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
*100%
	--
	--

	Theft P1
	4,000
	2,000
*50%
	2,000
*50%
	--

	Painting
	2,000
*Is money coming out of the account AND does D have money in the account?
Yes, so P has a choice of using Hallett OR any other tracing method  P1 will want painting valued at $18k, and not stock valued at $12k, so he will choose LIFO
	2,000
*100%
	--
	--

	Theft P2s
	4,000
	2,000
*50%
	--
	2,000
*50%

	Races
	2,000
*Is money coming out of the account AND does D have money in the account?
Yes, so P has a choice of using Hallett OR any other tracing method  P2 will want to use his own funds to purchase stock, so he will choose Hallett
	--
	--
	2,000
*100%

	Stock
	0
	--
	--
	--

	Outcome: P1 gets 18k painting, P2 gets 12k stock, D gets nothing.



FIFO WITH OATWAY
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
	--
	--

	Theft P1
	4,000
	2,000
	2,000
	--

	Painting bought
	2,000
*Money coming out of the account AND D has money in account, so P1 can use Hallett if chooses
*There is only one rightdoer (P1) at this point.  So P1 can choose between Hallett (would result in D buying the painting) OR any other method of tracing.  
But before P1 answers, P1 wants to look at the rest of the chart to see how it comes out – whether P1 would do better off by having wrongdoer’s money come out now.  
If P1 doesn’t choose Hallett, does P1 want to use method of jxn?  If uses FIFO, D’s money used anyway.  Only under LIFO would P1’s money be used 
	2,000
	--
	--

	Theft P2
	4,000
	2,000
	--
	2,000

	Races
	2,000
*Money coming out and D has money in, so P2 can choose Hallett or another method
Rightdoer will want to use D’s money b/c the money will go away.  Can use Hallett, or FIFO, or just say that he wants wrongdoer (D) not to prosper.  
	--
	--
	2,000

	Stock
	--
*P2 will choose to do LIFO or just that he doesn’t want wrongdoer to prosper
	--
	--
	--




B. At painting stage, if P1 chooses to use LIFO, then P1 gets the painting
C. At races stage, if P2 chooses to use Hallett, FIFO, or just that he doesn’t want wrongdoer to prosper, D’s money pays for races
D. At the stock stage, if P2 chooses to use LIFO or that the wrongdoer doesn’t prosper, P2 gets the stock
E. Note that Oatway doesn’t change with LIFO – P1 and P2 will make same choices as FIFO with Oatway
LIFO WITH RESTORATION
	Event
	Account
	D
	P1
	P2

	D’s funds
	2,000
	2,000
	--
	--

	Theft P1
	4,000
	2,000
	2,000
	--

	Painting bought
	2,000
 
	2,000
	--
	--

	Theft P2
	4,000
	2,000
	--
	2,000

	Races
	2,000
	--
*2,000 from D is used to “restore” P2
	--
	2,000

	Stock
	--
	--
	--
	--

	Outcome: P1 gets the painting, P2 gets the stock



4. Lowest Intermediate Balance Rule (Can be used alongside any of the tracing methods)
1. When looking at account balance over time, P only has right to the lowest balance point after P’s money was put into account
2. LIB is used anytime there are deposits/withdrawals into an account after a theft has occurred
3. Can be used along any of the tracing methods
4. P may obtain an equitable lien or constructive trust only on the lowest balance remaining in the account at any time subsequent to the deposit of P’s money into the D’s fund
1. Three methods
1. Chronologically: Process all transactions in the order they occurred
2. Withdrawals, then Deposits: Process all withdrawals for each day, then deposits
3. Deposits, then Withdrawals: Process all deposits for each day, then withdrawals
IV. REMEDIES FOR HARMS TO PERSONS
A. Medical Expenses
1. Consist of the reasonable cost of medical care and services made necessary by D’s tortious conduct.
a. E.g., docs, nurses, hospital care, medication, curative devices
b. Past and future expenses are considered
2. Loss of Earning Capacity
a. Actual capacity – the job you had and can no longer perform (this is just evidence of lost capacity).
b. Future capacity – the person would be employed in the future but for the loss of capacity caused by the D (speculative)
i. Set out assumptions (college, sex, age, race, age entering work force, earning capacity of parents, siblings, anything can be argued here)
c. Discount rates and inflation
i. Look at interest rate to determine how much you need in one lump sum, invested at that rate, to meet the future needs.  
ii. The higher prevailing interest rates are, the less money you need today, i.e., the greater discount.
d. D’s arguments lead towards D making smaller one-time payout to P
i. P will likely work for only a few years
ii. P will likely invest money at high interest rate, 
iii. Minimum wage will likely increase at high rate, etc. 
e. P will make opposite arguments, to try to induce higher one-time payout from D
i. P wants to discount the lump sum as little as possible.  
ii. Argue for low interest rates (low rate of return on today’s dollars).  
iii. Argue high inflation (those dollars are worth very little in the future, so you need more of them).
B. Steps in Calculation of Loss of Future Earning Capacity
1. Year One:
a. Figure out what P would have made if not injured
b. Figure out what P currently can make
c. D owes difference at present value
d. Present value = Difference/Interest rate
2. Year Two:
a. Increase in P’s original salary + Percent increase
b. Increase in P’s current salary + Percent increase
c. D owes difference at present value
d. Present value = Different/(Interest rate) * squared
3. See Chapter 5 – Problem 1 review problem
a. Assume P was injured by D, and will only be able to earn minimum wage (paying $4,000 per year).  If P were not injured, P would earn $20,000/year.
b. Assume the $20,000 would rise by 10% per year.  Assume minimum wage rises by 5% per year.
c. Assume P will get paid at the start of each year, and that P will begin working in one year, which is when P would otherwise have started working:

	Time (in years)
	Salary P would have earned (increasing 10%/year)
	Minimum wage (increasing 5%/year)
	Difference (Salary minus minimum wage)
	Present Value of Difference (at 4% interest)
	Divisor
	Bank Account Before Withdrawal (interest rate of 4%)
	Bank Account After Withdrawal

	0
	--
	--
	--
	--
	
	$88,302
	No withdrawal

	1
	20,000
	4,000
	16,000
	15,385
	(1.04)
	91,834
	75,834

	2
	22,000
	4,200
	17,800
	16,457
	(1.04)2
	78,867
	61,067

	3
	24,200
	4,410
	19,790
	17,593
	(1.04)3
	63,510
	43,720

	4
	26,620
	4,631
	21,989
	18,796
	(1.04)4
	45,469
	23,480

	5
	29,282
	4,862
	24,420
	20,071
	(1.04)5
	24,420
	0

	
	
	
	99,999
	88,302
	
	
	



4. Drayton: Drayton severely burned by liquid plummer; TC awarded her damages for loss earning capacity of 600K (also got medical expenses 500K and pain and suffering 500K) 
C. Damages for Pain and Suffering 
1. How to establish when injured party can’t testify?  Experts?  Third-parties?
a. Even though cannot testify, can still get pain and suffering
i. Capelouto: Baby doesn’t need to be able to testify for pain and suffering damages to be awarded
b. No double recovery
i. Flannery: Person in coma can’t feel pain and suffering or loss of enjoyment, so awarding damages would be akin to punitive damages, and barred here by Federal Tort Claims Act (Tunick disagrees)
2. Hedonic Damages (damages for loss of enjoyment of life) – e.g., pleasure one receives from religious, physical, psychological and moral activities
a. Does not attempt to measure the value of life enjoyed by any one particular individual but rather the value society intrinsically places on the life enjoyment of the average, reasonable person.  
b. Many courts will no longer allow expert testimony re: hedonic damages because it is too speculative
V. REMEDIES FOR PROPERTY DAMAGE
B. Cost to Repair: D should pay the cost to repair the damage UNLESS the cost to repair is more than the actual value of the property before the injury
1. Barge Bertie rule – P is entitled to have D pay for cost to repair the barge, but those costs cannot exceed the cost to replace the barge at time of damage
2. E.g., barge is worth $2500 but it would cost $4000 to fix; P will only get $2500
C. Diminution in Value: D should pay the amount that the property decreased in the value (Barge Bertie dissent)
1. Value of car before accident = $25,000
2. Cost to repair = $10,000
3. Value of car after accident = $20,000
4. Diminution in value = $5,000
5. P will argue for cost to repair to be awarded, D will argue for diminution in value to be awarded
D. Economic loss
1. Dissent in Barge Bertie case – barge was dented, but still seaworthy, and owner will likely not bother to fix the barge; economic loss is zero, so there should be no damages awarded
E. Freeport Method: When D injures P’s property, but repair makes property worth more or last longer
1. D pays cost to repair property to its original state
2. P pays for added value/years
3. No one pays for time already used
4. Freeport – Dock has been in use for 16 years, and has an expected remaining useful life of 25 years (total initial life of 41 years).  D damages dock, and after repairs following accident, life of dock is extended 10 more years.
b. P pays for the extra 10 years. D pays for the 25 year repair
i. D pays 25/35=71%
ii. P pays 10/35=29%
F. Straight Line Depreciation Method: 
1. D pays the cost to fix the property to restore it to new
2. P needs to pay for the use of the property for the prior years
3. No one pays for the added value
b. D pays 25/41=61%
c. P pays for 16/41=39%
d. No one pays for added 10 years
F. Sentimental Value
1. P can recover the reasonable special value of property over and above the market value of the goods
a. However, it needs to be something that:
i. The reasonable person would have sentimental value 
ii. Has been in the family for a long time, i.e., heirloom
b. Bond: Newspaper clippings for which Bonds had a lot of sentimental value
c. King: Lee Harvey Oswald stolen gun (gun cost $51.40, P paid $10,000 for it, claims he can sell it for $5 million, but government confiscates gun) – court rejects expert’s testimony to determine fair market value, and awarded $10,000 to P (and determined that value was based on gun’s status as conversation piece)
VI. REMEDIES FOR FRAUD, MISREPRESENTATION, AND BREACH OF CONFIDENCE
A. Fraud and misrepresentation occur when one party’s choice to engage in a transaction is misinformed by misstatements of another.
2. Fraud exists when:
a. D makes a material misrepresentation (“deal breaker”), AND
i. A misrepresentation is material when it is a deal breaker, i.e., likely to induce a RP to manifest his assent or if the person making the misrepresentation knows that it would a likely to induce the listener to act/not act 
b. The other party justifiably relied on the statement to their detriment
i. First, must be actual reliance to induce action or inaction
ii. Reliance must also be justifiable
a) Some states say, more guilty the speaker, less justifiable the reliance needs to be because good liars should not be rewarded
B. Two types of remedies
1. Disaffirmation: Rescind the K and seek restitution
a. Damages: 
i. Get money back + incidental expenses 
b. For a party to be able to rescind K:
i. Misrepresentation must be material;
a) Saks: Boyfriend thought he was paying $4K for a mink coat he bought as a gift to girlfriend, but girlfriend secretly made deal with Saks and paid remaining $1K balance.  Bf rescinded gift from girlfriend based on material misrepresentation (believed coat was purchased entirely by him) and also rescinded gift from Saks department store 
1. Court reasoned that anyone who is fraudulently induced to enter into a K is “injured” because Saks took away client’s freedom of choice
ii. Must promptly notify the other party of his desire to rescind (no unreasonable delay);
a) A party who, prior to the K’s performance, discovers fraud, must rescind immediately.  The party may not go forward with performance of the K and subsequently sue for damage.  It is no longer reasonable to rely on misrepresentations after the discovery of the fraud.
b) Legitimate settlement negotiations stop the clock on time needed to notify D
1. However, cannot be negotiating to stall time to see if the business value will improve
iii. Must not have exercised acts of ownership over the property (no exercise of dominion/control);
a) Acting like owner weighs against being able to rescind
b) Taking reasonable steps to preserve the value will not prevent rescission, i.e., don’t have to abandon business to preserve the right to rescind
1. BUT don’t take too many steps b/c then might be acting like owner and preclude rescission
2. Do just the minimum mitigation necessary to keep business afloat
iv. Must be able to return the property that was received unless the misrepresentation caused P to be unable to return the property in its original state (restore status quo).
a) Ex: D says chair is fireproof.  P’s friend lights match to test chair; it burns up.  P gets to have his money back without restoring the destroyed chair back to its original condition.
b) Gannett – seller of newspaper misrepresented finances, when buyer found out (after being in control and making numerous operational changes), buyer wanted to rescind.  Court said no because buyer did not make reasonably prompt notice of rescission and made too many changes to the business operations
c) A side lesson from Gannett: don’t opine on whether a purchase was a good or bad idea when it is made, b/c statement can come back to haunt you
c. Three types of cases where rescission is allowed for fraud
ii. P obtains something that is worth less than P was reasonably led to expect
iii. P obtains something substantially different than P was led to expect
iv. But when the P obtains exactly that which he expects, the court must balance the social interest in the “stability of transactions” with the social interest in not having a person intentionally take advantage of another
d. In general, consider how guilty the mind of the wrongdoer.  This may lessen the rescission requirements, including justifiable reliance.
2. Affirmation: Affirm the transaction and sue for K damages
a. Damages for Intentional Misrepresentation: 
i. Cost to repair: Cost to fix the misrepresentation
ii. Out of pocket loss: Difference between purchase price and actual value
iii. Benefit of bargain: Difference between represented price and actual value 
a) Selman: Land purchased for $2K was worth $2K, but represented as being worth $3900 for its timber 
1. Cost to repair doesn’t apply
2. Benefit of bargain rule would award P $1,900 (resulting in P ending up with total value of $3,900, or what was bargained for)
3. Court chooses benefit of bargain rule (majority rule)
4. Dissent: Out of pocket rule would award P nothing (b/c P paid $2000 for something worth $2000)
iv. Graduated liability rule: In some jurisdictions, amount of recovery is related to the mental state of the person making the representation 
a) Intentional misrepresentation: Higher recovery amount for P (benefit of bargain) + consequential damages
b) Negligent misrepresentation: Lower recovery amount for P (loss) + consequential damages
c) Innocent misrepresentation: No consequential damages
v. Mind of the listener rule: Some jurisdictions focus only on the mind of the listener and apportion damages based on whether the reliance was justifiable and the misrepresentation was material (Minnesota)
b. Damages for Negligent or Innocent Misrepresentations
i. If there is fraud in the inducement of the K, any K clause that limits liability will be reformed UNLESS the K specifically states a statement that is antithethical to the misrepresentation
a) Ex: Misrepresentation “300 pages/min” & K says “250 pages/min”
ii. Clements Auto: while negotiating contract for data processing services, provider makes a misrepresentation to purchaser without intent to deceive.  Misrepresentation is not contained in K itself.  Purchaser sues for breach of K and misrepresentation.
a) Ct rejects breach of K claim, but finds that misrepresentation claim is valid (in MN, no intent to deceive is required, and innocent misrepresentation still qualifies as fraud)
b) Aim of state law is to protect parties from both innocent and intentional misrepresentations
c) K had three key clauses
1. Integration clause (excluding all representations made outside of K)
2. Clause limiting liability to only the money paid for K
3. Clause barring consequential damages
d) Court overrules these three clauses under the rationale that enforcing them would encourage fraud; here, the tort of fraudulent inducement to enter into K was committed prior to signing of K
e) Court also says that in MN, in order to exclude representations made outside of K, every statement must be individually refuted in the K itself
f) Here, the occurrence of this tort gave rise to contract remedies
1. Occurrence of tort would also likely allow consequential damages (based on foreseeability of harm)
VII. REMEDIES FOR MISTAKE
A. Mistake in Performance
1. A party has made a mistake in performance when a party performed what he mistakenly believes to be some obligation, often the payment of money, to another, discovers the mistake, and seeks restitution.
2. An insurance company can get restitution when an insurance company that made a payment, due to a mistake of fact that the terms of the insurance K required such payment
b. Under one of the following theories:
i. Assumption of Risk (favors insured)
a) An insurance company makes a mistake as to the existence of a material fact
1. but recognizes the possibility of the facts nonexistent
2. and is fully conscious that there is an uncertainty as to whether the money is due
b) Makes the payment
c) It is assumed the payment was made to avoid the difficulty which might arise from non-payment
1. I.e., expense for investigation, litigation
d) Insurance company may not recover money paid to insured because it assumed the risk that the fact situation may later be discovered to be different from the actual fact situation
ii. Equity and Good Conscience
a) Payment made upon a mistake of fact
b) The money belongs in equity and good conscience to the insurance company
c) Incentivizes insurers to pay their claims quickly and keep premiums lower
iii. Dobbs’ (and others) Reliance
a) If the party that got the money and had not yet relied on it yet, should give it back to insurance company. 
b) Other scholars have interpreted Dobbs to suggest they do not consider basic necessities as being part of reliance.  People are supposed to take care of their own basic necessities without needing excess funds, for example, those paid by mistake by an insurance company 
iv. Phoenix: Insurance insured store for theft, but not if it was an inside job; paid company after investigating and determining it wasn’t an inside job; later found out it was an inside job and wanted $$ back
a) Store argued Assumption of Risk theory
b) Insurance company argued Equity and Good Conscience and won
v. Money paid under mistake of fact can be recovered but not if the other side has relied on payment.  No recovery for money paid based on a mistake of law. 
a) No longer used by Restatement Third. 
b) Admiral Insurance Co: 
1. If insurance company has paid because of MOL, can’t get money back
2. If insurance company has paid by MOF, and other side relied to their detriment, can get money back
B. Mistake of Fact in Formation of a Contract
2. When is there mistake in the formation of a K?
a. One party is mistaken about some fact that constitutes a basic assumption on which the parties make a K
i. Can be unilateral or mutual
b. Party usually seeks rescission
c. If part performance, party will also seek restitution of the value of any benefit conferred on the other party
3. When can a K be rescinded due to a mistake?
a. Allocation of Risk rule
i. K can be rescinded when:
a) The mistake is of such grave consequence that to enforce the K as made or offered would be unconscionable
1. Unconscionability is found when there is:
a. Unequal bargaining power
b. Overly harsh or one-sided K
b) The mistake relates to a material feature of the K
1. Has an adverse effect upon the agreed upon exchange of performances
c) The mistake must not have come about because of the violation of a positive legal duty or from culpable negligence
1. But ordinary negligence does not constitute neglect of a legal duty
2. Culpable negligence = repeated negligence
3. A party should not assume the risk of a mistake when the mistake was caused by minor, understandable negligence (and that party would suffer a great loss for such a minor negligence)
d) The other party must be put in status quo to the extent that he suffers no serious prejudice except the loss of his bargain
e) The court may consider if the error was made innocently and if rescission will lead to carelessness in the industry
1. Looks at failure to act in good faith and in accordance with fair dealing
2. Also affected by culpable negligence 
f) Donovan (CA case involving sports car being mistakenly advertised for very low price): Assuming P doesn’t cause mistake, in order for D to rescind for unilateral mistake, D must prove the following:
1. D made mistake regarding basic assumption of K
2. Mistake had a material effect on the agreed-upon performance to D’s detriment 
3. D does not bear the risk of the mistake (which would occur if):
a. Risk is allocated to D by K, or
b. D knows of his limited knowledge (chance for mistake) and treats this limited knowledge as sufficient, or
c. It is reasonable for court to allocate risk to D
4. Effect of mistake causes enforcement of K to be unconscionable
5. Some states will be stricter than CA, and require that P knew of or caused the mistake
g) The more reckless/negligent that a party making a mistake was, the more likely the K will be undone (b/c the other party should have recognized that it was a mistake)
h) The more reliance there has been by the other party, the less likely it is to be undone
b. Identity/Value rule
i. A person can rescind due to a mutual mistake concerning the identity of an item but not due to a mistake concerning the value of the item unless there is a misrepresentation
ii. Mutual Mistake
a) Mutual mistake does not make it more or less likely that relief will be granted
b) Wood: both P and D ignorant of true value of gemstone, and seller sues to recover after learning it was a valuable diamond.  Ct treats sale as bad bargain, and holds that mutual mistake regarding nature/value of the item sold isn’t sufficient for rescission (proof of fraud would be required). 
1. Both parties had equal opportunity to determine value
c. K provision rule
i. If the K allocates fault, there will be no rescission unless the K is induced by fraud
a) Lenawee v. Messerly: P buys vacant land from D as-is (both parties thought they were contracting to purchase and sell income-generating property).  Land condemned for sewage leak, and P sues D.
C. Mistake in Integration: Reformation
2. When is there a mistake in the integration?
b. Parties enter into an agreement and reduce the agreement to writing;
c. The writing does not accurately reflect the agreement but one or both of the parties mistaken assume that it does;
d. The adversely affected party ordinarily asks for the remedy of reformation of the writing to conform to the parties’ actual agreement;
e. The court orders the writing to be reformed to the parties’ actual agreement
3. What must a party prove to get reformation?
b. A party must present clear and convincing evidence that:
i. The parties reached a prior agreement regarding some aspect of the bargain;
ii. They intended the prior agreement to be included in the written K;
iii. The written K materially differs from the prior agreement;
iv. The variation between the prior agreement and the written K is not the result of gross negligence of the party seeking reformation.
a) Is the court more likely to grant reformation when one party made a mistake and the other party committed fraud than where both parties made a mistake?
v. Sikora: Proposed sale of chiropractic office, and buyer’s attorney made mistake on PSA such that previous 7 months’ profits from practice were represented as profits from previous 6 months (resulting in overvaluation of business)
a) Buyer runs business into ground, and then sues seller for breach of K because of mistake regarding 6 months vs 7 months in contract  
b) Holding – when both parties make mutual mistake (or unilateral mistake, in fact), courts may (but is not required to) reform the contract
VIII. REMEDIES FOR BREACH OF CONTRACT
A. Land Contracts
1. Specific performance is often granted b/c of special/unique status of property, and assumption that legal remedies are inadequate
2. Centex Homes: Buyer of house wants to back out of contract, and seller sues buyer to force specific performance (i.e., complete purchase of house).  Ct denies specific performance, stating that it is reserved for cases where legal remedies are inadequate, and here, seller’s retention of initial deposit is adequate.
3. Four possibilities with land contracts:
a. If seller backs out, the buyers’ remedies are
i. Specific performance if land/location is unique
a) If buying to tear down, not unique
ii. If land is not unique, the buyer will get money damages
a) Difference between old K price and new K price
b) Incidental costs in finding a new house
b. If the buyer backs out, the seller’s remedies are
i. Money damages if ascertainable and adequate. Seller can:
a) Re-sell the land
b) Recover the difference between the K price with seller and the resale of that land
c) Recover consequential damages: Additional commissions and other costs of resale and costs of maintaining the property after breach
ii. If not, the court will order specific performance when:
a) There are unique circumstances that would cause seller to suffer an economic injury for which money damages will be inadequate
b) Other equitable considerations require that specific performance be granted
4. If no specific performance granted, certain foreseeable consequential damages might be awarded (title costs, moving expenses, maybe lost profits on resale)
B. Construction Contracts
1. Specific performance is rarely given because:
a. The contractor might not do a good job
b. Difficult to supervise
c. Legal remedies are adequate
2. What are the contractor’s remedies if the owner repudiates the K before completion? 
a. Contractor recovers cost incurred in performance plus the anticipated profit minus any payment received from owner 
i. Dobbs didn’t suggest this because contractor did not finish the job
b. Contractor recovers the reasonable value of his work (quantum meruit) (Dobbs)
c. Contractor recovers nothing if no expected profit (Dobbs)
d. Contractor recovers a percentage of the K price based on the amount spent/would have spent (Dobbs)
i. Percentage: amount contractor spent/amount contractor expected to spend
ii. Contractor gets that percentage of the K price
a) P can only recover an amount equivalent to the proportion of the money already spent by P in relation to the total amount that P expected to spend 
b) E.g., Assume P has spent 5K to date when K is repudiated.  P was going to be paid 10K for a job that would have required him to spend 15K in total (P badly underbid the job).  Since P has spent 1/3 of the money he expected to spend, he can recover 1/3 of total K price, or $3333.33.
3. What are the owner’s remedies, if the contractor repudiates the K before completion?
a. If the contractor leaves job before completion or his work is defective, the owner can get the cost of completion.
i. Owner hires another contractor
ii. Contractor pays cost to complete over unpaid K price
4. What will the court do if the cost to complete/repair is disproportionate to the diminution in value?
a. Majority rule: When the diminution in value is grossly disproportionate to the cost of performance, the damages are limited to the diminution in value
b. Dissent rule: There is no limit on recovery, the person who breaches should either fully perform or pay the cost to complete
c. Peevyhouse: construction job not completed, and huge pile of dirt was left on land.  Dirt would cost $25,000 to remove, but value of land was only depreciated by $300.  P sues for $25,000
i. Court determines that no reasonable person would spend $25,000 to improve value of land by only $300; owner is awarded $300
ii. Court appears to rely on a theory of disproportionality (the greater the disproportionality, the less likely the P will recover)
a) Majority’s ruling is irrational b/c it encourages the wrongdoer to pile up more dirt and make it so expensive to remove just so that they only have to pay the diminution in value
iii. Dissent holds that principles of right/wrong and K obligations should apply, and Ps were entitled to specific performance/cost of removal
C. Employment and Service Contracts
1. An employee who is wrongfully discharged can recover the amount of salary agreed upon for the period of service (salary) minus the amount which the employer affirmatively proves the employee has earned (no matter what type of work was performed) or with reasonable effort might have earned from substitute employment (duty to mitigate) 
2. Calculation: (Agreed upon salary) - (Amount which employer proves employee has earned or could have earned from other employment)
3. What is substitute employment?
a. Majority Rule: The employer must show that the other employment was comparable, or substantially similar to that of which the employee has been deprived (superficial test: just list the differences)
i. Wrongfully discharged employee is ordinarily allowed to recover the salary that he would have earned (wages + benefits) but for the wrongful termination, but must mitigate damages.
ii. Mitigation usually requires employee to limit damages by deducting from his lost salary the amount of money he earns by taking substitute employment.
iii. However, employee doesn’t need to accept different/inferior employment; need to look at whether alternative employment is substantially similar (and not whether alternative employment is substantially different)
b. Dissent Rule: The employee must show that the employee acted reasonably in rejecting the offer
i. Objective view: Do people in the business think the employee acted reasonably?
a) Have experts testify if reasonable or substantially similar not the judge
ii. Subjective view: Does the employee think that employee acted reasonably?
a) From her testimony and others she spoke to who heard her reaction?
iii. If there is a split between these two tests, the dissent doesn't which view weighs more.
4. Parker v. 20th Century Fox: P has contract to perform musical.  D reneges.  D claims that P has not mitigated since didn’t take job in a Western movie.
a. Held – western film is not substantially similar to musical, so P did not fail to mitigate.
b. Dissent – difference between two films is not the same as the difference between two types of employment; recommends augmenting the “objective” reasonable person test with a subjective assessment by the employee of the differences between the films
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